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D. (1 kiloronort)/(10 clartes)



“I would like to spend extra time on conversions.” 



1 𝑐𝑙𝑎𝑟𝑡𝑒 ∙



1 𝑐𝑙𝑎𝑟𝑡𝑒 ∙
1 𝑟𝑜𝑛𝑜𝑟𝑡

100 𝑐𝑙𝑎𝑟𝑡𝑒𝑠



1 𝑐𝑙𝑎𝑟𝑡𝑒 ∙
1 𝑟𝑜𝑛𝑜𝑟𝑡

100 𝑐𝑙𝑎𝑟𝑡𝑒𝑠
∙
1 𝑘𝑖𝑙𝑜𝑟𝑜𝑛𝑜𝑟𝑡

1000 𝑟𝑜𝑛𝑜𝑟𝑡𝑠



1 𝑐𝑙𝑎𝑟𝑡𝑒 ∙
1 𝑟𝑜𝑛𝑜𝑟𝑡

100 𝑐𝑙𝑎𝑟𝑡𝑒𝑠
∙
1 𝑘𝑖𝑙𝑜𝑟𝑜𝑛𝑜𝑟𝑡

1000 𝑟𝑜𝑛𝑜𝑟𝑡𝑠
∙

1 𝑏𝑟𝑎𝑛𝑜𝑙𝑎

10 𝑘𝑖𝑙𝑜𝑟𝑜𝑛𝑜𝑟𝑡𝑠



1 𝑐𝑙𝑎𝑟𝑡𝑒 ∙
1 𝑟𝑜𝑛𝑜𝑟𝑡

100 𝑐𝑙𝑎𝑟𝑡𝑒𝑠
∙
1 𝑘𝑖𝑙𝑜𝑟𝑜𝑛𝑜𝑟𝑡

1000 𝑟𝑜𝑛𝑜𝑟𝑡𝑠
∙

1 𝑏𝑟𝑎𝑛𝑜𝑙𝑎

10 𝑘𝑖𝑙𝑜𝑟𝑜𝑛𝑜𝑟𝑡𝑠

=
1 ∙

1

100
∙

1

1000
∙
1 𝑏𝑟𝑎𝑛𝑜𝑙𝑎

10



A. (1/1,000,000) branolas

1 𝑐𝑙𝑎𝑟𝑡𝑒 ∙
1 𝑟𝑜𝑛𝑜𝑟𝑡

100 𝑐𝑙𝑎𝑟𝑡𝑒𝑠
∙
1 𝑘𝑖𝑙𝑜𝑟𝑜𝑛𝑜𝑟𝑡

1000 𝑟𝑜𝑛𝑜𝑟𝑡𝑠
∙

1 𝑏𝑟𝑎𝑛𝑜𝑙𝑎

10 𝑘𝑖𝑙𝑜𝑟𝑜𝑛𝑜𝑟𝑡𝑠

=
1 ∙

1

100
∙

1

1000
∙
1 𝑏𝑟𝑎𝑛𝑜𝑙𝑎

10























C. 𝑫 = [𝟏 −𝒎/𝑴]𝒈𝑻𝟐


